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> "otEsthI"

"oHIStHI "

> console.log("oHdstAI2")
QHISIM| 2
undefined
> "otdEtMI

\VM244:1 Uncaught SyntaxError: Invalid or unexpected token\
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2. @ console.log()ollA] console A—AYULE, o] 5of| -85 vll-¢-d & = ZARE, AEA}
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3. @, @ console.log()ollA] log= AlEALo|HA FE 7} Qlom g masgyc
4. ® weAreTheWorld @ createOutput ® createRequest @ initServer ® initMatrix

5. @ console konsole 502 ZHE Q1L AL vhaldk 4= 9l o =Zolyr}

‘ Uncaught ReferenceError: konsole is not defined

@ +++olghs AT EASHA] gfeBe o /e BTt

‘ Uncaught SyntaxError: Invalid left-hand side expression in postfix operation
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‘ Uncaught SyntaxError: Unexpected token ')’
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3. @ const 7I9=E ARG BHE A WEA] A T 271818 sfof it el 228
const r = 1022 £=A3hH A o2 E25kh T}

Uncaught SyntaxError: Missing initializer in const declaration
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Uncaught TypeError: Assignment to constant variable
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5.

<script>
/] A5 YHEEULCH

‘const rawInput = prompt('cm ©2lo| %25 YHsHFAHL.")
/] YUHE =AZ HZPstD cm T2 HATLICH

const c¢cm = Number(rawInput)
const inch = cm x 0.393701

/] EHEUCt.
‘alert( ${cm}em= ${inch}inch YLict.>)
</script>

<script>
/] RAE UHLSLICE

= Hocg

const rawInput =
const r = Number(rawInput)

prompt(' ol HIZES UAAHFAHL.")

/] 2.

let output
output +=
output +=
output +=
alert(output)
</script>

HRIE: ${r}\n
H0l: ${3.14 % r x r}\n°
= ${2 x 3.14 % r}
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<script>
/] ZAE Y=ErELICH

$0 LHEolis B34S K123 R olon?
th2ab Zol HKHAIZ Y
A2 3T 2 M E b
oAzt Nz 22

prompt(' &2 ol 2
Number (rawInput)

0HE ol
=2 -d9

const rawInput =
const dollar =

HaFHL.")

// E™"gCt.
let output =
output += “=2{: ${dollar}\n

output += “- @3} ${dollar x 1207}
alert(output)

</script>
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1. ®if 245 el 2 E@ao] Fel u) if AR 2 Sojghch

2.

<script>
const a = Number(prompt('3 m £a', "))
const b = Number(prompt('& W# %at', "))

if (a>b) {
alert('# WIHE U=st xa7t o Fuch ')
} else if ) {
alert('& %XM Z&UC ")
} else {
alert('& MMz st 227t o UL ')
}
</script>

if (x > 10 8& x < 20) {
console. log(' 0| 2&uUCH ")

}
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<script>
const a = Number(prompt('£AE2 YsizML.', "))
if (a>0) {
alert(' st xats L4QLICt. ")
} else if (a == 0) {
alert(' st £at= 0YLCh ")
} else {
alert('2dh zat= 24Ut ")
}
</script>
S. <script>
const a = Number(prompt('<at=
if (a%2===0) {
alert(' ¥t £t &Lt ")
} else {
alert(' Y == Bt ')
1
</script>
6. <script>

const a = Number(prompt('&s Y

iFzAH2.", ''))

if 3<=a8& a<=5) {
alert('auct. ")

} else if (6 <= a && a <=
alert('{ELct. ")

} else if (9 <= a && a <=
alert('7t2LcCt. ")

} else {
alert('A2Lct. ")

}

8) {

1) {

</script>
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2 <script>
const rawInput = prompt('Efoit SHE YHFML.', ")
const year = Number(rawInput)
const e = year % 12

let result
switch (e) {
case 0:
result = '950|’
break

case 1: result = "&'; break;

case 2: result = "74"; break;
B 2k 32|EE SRbe| B2
case 3: result = "®HZ|'; break; =E wTEEE
ot gL 22 LH
case 4: result = '#'; break; Bubg ¢ HRIZE2 2 Liebfich.
C —_ 2f5heid 'H4 o)t ME R4 Bk A
case 5: result = 'A'; break; A2 2 ojafifcied el _T'-H o 2T
o o 71k, J %_,_‘—041 ol2dsted1 Fhcked Miol 22
case 6: result = 2°0| ; break; 2 KhE3H Th2ak 2ol oJadituich.
case 7: result = "E7l'; break;
case 8: result = '&'; break;
case 9: result = "#'; break;

case 10: result = "Z'; break;
[e]

case 11: result = '&'; break;

}
alert( ${year}=o|l E{O{*CtH ${result} L|Ct.")
</script>
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<script>
const rawInput = prompt('Efoit SHE YBHFML.', ")
const year = Number(rawInput)

let 2t

let e = year % 10

if  (e==0) {%='73}
else if (e ===1) { zt="4"1}
else if (e ===2) {2t ="'}
else if (e ===3) { zZt="A"}
else if (e === 4) { zt="'%" }
else if (e ===5) { zt="8"}
else if (e ===6) { 2+ ="49Y"}
else if (e===7) {2+ ="%"1}
else if (e ===8) {2z ="2"1}
else if (e ===9) { zt="7I"}
let o

let tti = year % 12

if (tti ===0) {o="4"7%3
else if (tti ===1) {="'|"}
else if (tti ===2) {="s"}
else if (tti ===3) { o ="si" }
else if (tti ===4) { o ="a"}
else if (tti ===5) {o="'2"}
else if (tti ===6) { o = "2"}
else if (tti ===7) {0 ="=2"}
else if (tti ===8) { o ="2"}
else if (tti ===9) { o = "A"}
else if (tti ===10) { @ = "'2"' }
else if (tti === 11) { o = 'O]" }

alert("${year}de ${Zt}${m} =L ct.”)
</script>
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<script>
const array = []
for (let i =0; i< 3; i++) {
array.push((i + 1) % 3)
}
console.log(array)
</script>
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let output = 1

SR for (let i =1; i <= 100; i++) {
let output = 0 | output *= i
for (let i = 1; i <= 100; i++) { console. Top( i et
output += i A
}
console.log(" 1~1002 A& 2% F35tM, ${output}Lict.”)
</script>
4. 186% 74 ofA|o) WHaw FEiS 2% ARgsh HUoh &2 AUt 53 ANsH o 1HdsHA
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<script>

/] HE+E dAgH

let output =
const size = 5

[/ HrEFLCE.
for (let 1 = 1; i <= size; i++) {
for (let j = size; j > i; j--) {
output += ' '
}
for (let k =0; k<2 xi-1; ki+) {
output += 'x'
}

output += "\n'

}

for (let i = size -1; i > 0; i--) {
for (let j = size; j > i; j--) {
output += ' '
}
for (let k =0; k <2 % 1i-1; k++) {

output += "«
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}

output += "\n'

}
[/ EHFLLCE.
console. log(output)
</script>
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<script>

const multiplyAll = function (a, b) {
let output = 0
for (let i = 1; i <= 100; i++) {

output += i

}

return output

}

console.log(multiplyAll(1, 2))
console.log(multiplyAll(1, 3))

</script>

2.

<script>
const max = function (array) {

let output = array[0]
for (const data of array) {

if (output < data) {
output = data

}

return output

}

}

console.log(max([1, 2, 3, 4]))

</script>
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<script>
const max = function (...array) {
let output = array[0]
for (const data of array) {
if (output < data) {
output = data
1
}
return output

}

console.log(max(1, 2, 3, 4))
</script>

® <script>
const max = function (first, ...rests) {
let output
let items

if (Array.isArray(first)) {
output = first[@]
items = first

} else if (typeof(first) === 'number') {
output = first
items = rests

}

for (const data of items) {
if (output < data) {

output = data

1

}

return output

console.log("max(ti®): ${max([1,2,3,4]1)}")
console.log("max(=At, ...): ${max(1,2,3,4)})
</script>
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1. <script>
/] HAZ MOiBHCEH,

oTE Coee

let numbers = [273, 25, 75, 52, 103, 32, 57, 24, 76]

[/ AE|Uct.

/] (1) &5 &

numbers = numbers.filter((x) => x % 2 === 1)
// (2) 100 O|ste| #or 2=

numbers = numbers.filter((x) => x <= 100)

/] (3) 52 Lke LtMA|7L 091 £8F =&

numbers = numbers.filter((x) => x % 5 === 0)

// E=JCE.
console. log(numbers)
</script>

2.

<script>
const array = ['Akt', 'df', '2', "H{LE']

console.log('# for in HIEZ')
array.forEach((item, i) => {
console.log(i)

1))

console.log('# for of HHEZ')
array.forEach((item, i) => {
console. log(item)

1))
</script>
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<script>
const object = {
name: "2t ZEsH= TO|N",
price: 18000,
publisher: "&t4lojc|of”
}

</script>

2.3 3.®

4. print WlaEo] Ea2]E AW gy},

06-2 Zixe| &8} HIAE ARZSI7]

1. OF ARG num 71 AR Ee] B v A7} ke Uitk numt 22 7]
2 A2 E g ule AR Aae] m2ERl(prototype 48)0] HAES Z7laof gtk

‘ Uncaught TypeError: num.¥ is not a function

2.

printLang("ko"): st=0f
printLang("en"): ¥df
3. <script>
[/ E+E MARLICE.
const degree = 90
// "Lt
// Math.sin() OIAEE 23 LR 2tC|ot ©QIE Zojof FHLIC.
const radian = degree x (Math.PI / 180)
console.log(Math.sin(radian))
</script>
4. ®



<script src="https://cdn.jsdelivr.net/npm/lodash@4.17.15/1lodash.min.js">
</script>
<script>
const books = [{
name: 'Eat ZHStE oM’
price: 18000,
publisher: 'steojC|of’
lio o
name: 'HTMLS € ZzJajd Q2',
price: 26000,
publisher: 'stlopztg|ol’
lio o
name: 'Hilz{d EHajd HM Y AR
price: 30000,
publisher: '¢|7|2A'
lio o
name: 'S 9ISt #8t,
price: 25000,
publisher: '¢|7|2A'

3

Bl

console. log(_.orderBy(books, (book) => book.name))
</script>
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1. @ C++, C# A} So] T2 7 olojof| sigahc).
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2. @ 3. @ 4. @

5. @ 6. Parent.test() HlAE
ChildA.test() MAE
ChildB.test() MAE
Parent.test() HAE
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1.0 2. @ a2 sol gyt 3. O
4.

<script type="text/babel">
/] OHEZ2[H0|M A HH5t7|
class App extends React.Component {
constructor (props) {
super(props)
this.state = { seconds: 0 }
this.handleChange = this.handleChange.bind(this)

handleChange (event) {
if (event.target.checked) {
this.timerId = setInterval(() => {
this.setState({
seconds: this.state.seconds + 1
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1))
}, 1000)

} else {
clearInterval(this.timerId)

render () {

return <div>
<input type="checkbox" onChange={this.handleChange} />

<span>Eto|H &Mst</span>
<h1>{this.state.seconds}%</h1>
</div>

/] &%3517|
const container = document.getElementById('root"')
ReactDOM. render (<App />, container)

</script>

5. FE& AN AREARE o]l EA| L., selecto] selected 473 Fo1% A AT
1%‘74] st F&o it 288Ut "ReactE AR = selected T4l defaultvalue

%@ 2kal 3}710l| defaultValueghs $48 Jdd35UT valueE w3
0'0] okdg}, value={10}2.& g3t AL 222 T2 -8517] YAyt

<script type="text/babel">
// OHEZ|FHO0|ME SHA HH5Y|
class App extends React.Component {
constructor (props) {
super(props)
this.state = {
input: 0,
output: 0,
scale: 10



this.handleInput = this.handleInput.bind(this)
this.handleSelect = this.handleSelect.bind(this)

handleInput (event) {
const output = (event.target.value * this.state.scale).toFixed(2)
this.setState({
input: event.target.value,
output: output
b))
}
handleSelect (event) {
const output = (this.state.input * event.target.value).toFixed(2)
this.setState({
scale: event.target.value,
output: output
b

render () {
return <div>
<input
value={this.state.input}
onChange={this.handleInput}/>
<span>cm = {this.state.output}</span>
<select value={this.state.value} onChange={this.handleSelect}>
<option defaultValue value={10}>mm</option>
<option value={0.01}>m</option>
<option value={0.393701}>inch</option>
</select>
</div>

/] &%st7|
const container = document.getElementById('root')
ReactDOM. render (<App />, container)

</script>




<script type="text/babel">
// OHEZ|#HO0|M Z2HA HH5HY|
class App extends React.Component {
constructor (props) {
super(props)
this.state = {
text: ',
length: 0
¥
this.handleChange = this.handleChange.bind(this)

handleChange (event) {
this.setState({ text: event.target.value })

componentDidMount () {
/] BEHET 3tH0| SHEUS o
this.timerId = setInterval(() => {
this.setState({
length: this.state.text.length
b
}, 500)
}
componentWillUnmount () {
/] BEHET}L SHHOIAM A|7E o

clearInterval(this.timerld)

render () {
return <div>
<h1>32t £: {this.state.length}</h1>
<textarea
value={this.state.text}
onChange={this.handleChange}></textarea>
</div>



/] E33517|
const container = document.getElementById('root")
ReactDOM.render(<App />, container)

</script>
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